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10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
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| :@/l'v‘iatch List-I with List-IT and select the correct| %i
answer using the code given balow the Lists : =
List-X List-1T
(Training Institue) (Location)
A. National Academy of 1. Mussoorie
Guﬂtﬂmﬂ, I—ﬂdirﬂct
Taxes and Narcotics
B. LBS National 3 Shimla
Academy of
Administration
L. Natinnalﬂmadem}r of 3, Mumbal 4.
Audit and Acconnts
D. All Indis Institute of 4. Palnsamudrarn
Local Self
Government
Code
A B C D
J{j 3 2 1 4
) 3 1 2 4
ey 4 1 2 3
(d)y 4 2 1 3
2,  Coosider the following statements :
1,  The Flag Code of India superseded the
Flag Code-India’. 5
2. The state emblem of India is an
adaptation of the Lion Capital of Ashoka
at Sarnath.
Which of the statements given above isfare
correct 7
(a) 1only
(b) 2Zonly
(¢) Both1and2
(d) Neither 1nor2
3-
RAKU-5-GKL (3~C)

¢ the following is mot Mg
of National Migsigy

;ﬂn afﬂﬂs
ﬁﬂtaﬂc 1o Habitat ?
Bgﬂwl E}r ﬂ_‘[]d Grreen Bl‘llldlng
ne
(8! f:{ wiliby and Air Quality,
ol
i este Management
[ o il Planning, Green  cover gng
"I:“ mm]iqpyrﬁﬁ ll"r'

4 of the following are the components of
i dian Legal System 7
the mﬁﬂmc values and principles enshrined in
b the Constitution

Rights and obligations conferred by

B

ordinary statutes

3 Organizational set-up to E:‘nflf:'r{:e rights

 and obligations within . the
conatitutional norms

g Legal and judicial persons

gelect the angwer using the code given below :

(m 1,2,3and4

(bt 1.2 and 4 only

(¢ 1,2and3only

(d) 3and4only

Which one among the following statements
ahout the objectives of Vibrant Village
Programme ig correct ?

It is a Centrally sponsored scheme.

This programme was launched in 2021.

) Arunachal Pradesh, Siklim and
Manipur are the states selected under
this scheme.

« Vmagﬂﬂ of Uttar Pradesh along the
Nepal border are selected as flagshiP

villages under this scheme.



has net been
(a) WFPp
(k) ILO
s UNESCo
(d UNHCR

alihe following UN orgenizations 10,
Warded the Nobel Prizo ?

. i
Which of the following areas has beon
exempled from the purview of the Citivenghip
{Amendment) Act, 2019 ?

{a) Ladakh

(b) Jammu and Kashmir

(el  The Sixth Sclhisdule Areas
(d) The Fifth Schedule Areas

B. Who among the following stated that 'A just
gociety is that society in which aspending
gense of reverence and descending sense of
contempt is dissolved inte the crention of o
ecompassionate society’ ?

(a) Vincha Bhave
(b} Bhimrao Ramji Ambediar
{¢) Rammanochar Lohia

{d; Jayaprakash Narayan

11.

9, Which of the following statements isfare

correct 7 .

i Criminal law is exclusively & subject
ander the State List of the Constitution
of India.

2 (Code of Civil Procedure falls under the |
Cdnm.lr:l‘Enf List of the Constitution of | 122
India.

spswer using the cede given below :

Select the
(a) 1only
() 2only

(¢c) BothlandZ

(d) Neither 1007 2 !
(6=C)

RAKU-5-GKL

the following
E‘E EErEEmEnt‘ )
I Tder b

Tﬂﬁhkﬁnt Declaration

1 (ndus Water Treaty

: jgrosment on the Prohibition of Attag
A% atnst Each  Other's  Nugey,
Iﬂjw]hﬂum snd Facilities

. gment on :?ueduﬂing the Rigk from

4 midﬂﬂiﬁ Relating to Nuclear Weapans

geloct the BDSWEE using the code given below -

1,2 3,4

3,8, 1,4

9.1, 5. 4

1,4 2,3

()
(b
(el
(d}

Which of the following statements with regard

1o the Shanghai Cooperation Organization

(8C0) isfare correct ?

1 T'hen'fﬁciﬂl]anguﬂgesnfthﬂﬂﬂﬂm
Rusgian amd Chinese.

3. The SCO enjoys observer status in the
UN General Assembly.

3. The SCO consists of 13 member states.

Select the answer nsing the code given below :

{a} 1only
land 3

() land2

{d) 2and3

Finaneial Action Task Force is

(@) A wing under the Central Fleonomie
h*a“iglmce Bureaud

{b) A division of Enforcement Direqtorate

¥ A global money laun&eﬂﬁ?f%ﬂﬂ-teri'ﬂm
financing watchdog ;

@) AUN Anti-Corruption AgeneY

o

TR T



e .
e e A i

‘18- In which of the following matters placad

14,

15.

()

e T

bafore the UN General Aspembly, o resolution
by two-thirds majority of the members present
and voting iz required ?

1 Admission of new members to the UN

2. Election of the non-permanent members
ofthe S'Eﬂuﬁty Council

3. Election of members of the Economic
and Social Council

Select the answer using the code given bolow :
fa} 1andZonly
(b) 2and3only
(¢) 1and3only

({d) 1,2and3

‘Bharat Parv’ was organized by the
Government of India during which of the
following programmes 7

i Republic Day 2024

2. National Film Festival 2024
2.  Clannes Film Festival 2024
Helect the answer using the code given below :
fa) 1andZ2only
(b} 2and 3 only
e} 1and?3only

{d) 1,2and3

Which one of the following organizations
challenged the constitutionality of Section 377
of the Indian Penal Code in the Suprems

Court of India ?

Naz Foundation {India) Trust
Bachpan Bachao Andolan
Sambhav Foundation India

()
(e}

T Tl

e A il T T
. - - 5 -
£ - ';-. = H-i:':i_“ (L8 )

14.

17.

(d) ActionAid India

ml_-__[a 271G of the E““E'ﬁfuﬁ%
of

T i b
Ab Ps m.ﬂ-l -prﬂ"r']ﬂlm.'lﬂ have hﬂ&'l] Madg
wWith
A 3
(! - the state of Mizoram. Accora;

@ . )
fgﬁf::ﬂb ﬂ'f Pﬁfhﬂmﬂﬂt 3115-11 Iip'pl}r on U&rt&in
po . gnless the Legislative Asﬁﬁmhly o
o301 50 decides by a resolution, Whidh o,
Miz? (olloWing matters is not covered unge,

o
tale T

{hi# pricle :

i fReligious oF gocial practices of the Miros

(b}
(e}

pizo customary law and procedure
inistration of civil and crimips]

justice involving decisions according g

Mizo gustomary law

Ownership and transfer of natural

rREONICES

Which of the following statementa, as per the
Information Technelogy Act, 2000, isfare
coryect 7
1. This Act provides that electronic
' signature is legally valid in the same
manner as the handwritten signatare.
2. Both the Central Government and Btate
Governments have been given the powet
to make rules with respect to glectronic

dignature.
Select the angwer using the code given belo
(a):
(b)

1 iy

2 only

()  Both1and?2
(d}  Neither 1 nor 2

(7T-0C)

RAKU-8-GKL
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- 20

{

iz g
Eligih ity hT“dF to conduct Common
®8t (CET) to shortlist the

candidat
s EGmes fu‘.:- Vagancies under ‘Group B
: UP €' of the Guvernment.
in

Ell'tp] Symnend private :
" b:]
in

facilitatag
i all the districts,
particularly 117 aspirational districts,

Hiwas set up in 2014,

(b)

gector

(e}

(d) ‘It hids been accorded Constitutional

status in 202].

The ‘Res:mrch Design and Standards
Organization is the R&D wing of which one of
the following organizations 7

19.

{z) Bhabha Atomic Research Centre

(b} Indian Space Besearch Organization

(¢} Indian Railways _ |

(d) Defence Research and Development
Organization

Matech List-I with List-IT and seleet the currecéf

an he used to;
}E-f”ﬂ 4 ct welded joint
.ﬂﬂga B hethm

i
1: pf'rti of a machine.
ctudy structure of erystals,

BWo mety

{he BREWET using the code given beltyr *

1 h 0nie of the following heat transfers ig ag
ple of convection 7
(a) Heaﬁﬂg of food in 2 microwave dven

(b}
\!}”/ Faeling the warmth in sun

B Heating & brass rod af one end and
ohserving the temperature rise at the

gi;]:l_EI Eﬂd

23,

Boiling water in a pot on a gas stove

(

(03¢ 'Thg phenomenon of rainbow formation by

water droplets invelves :

(a) single refraction of sunlight

answer using the code given below the Lists :
Lisi-T .
(Speaker of Lok ?;‘:f;ie J
Sabha)
A Manohar Gajanan 1. 14t Lok Sabha
Jeoshi
B. Somnath 5 13% Lok Sabha
Chatterjee
0. Meira Kumar 3.
D. Sumitra Mahajan % 15tk Lok Sabha
Code :
A B C D
(a) 2 1 4 i
h) 2 4 1 3
(d) 3 1 4 2
(8-

RAKU-S-GKL

(k) one internal reflection of sunlight

(c} two internal reflections of sunlight

@?/hﬁth refraction and internal reflection of
sunlight

16th Lok Sabha \%/Gm‘-" hole is a region over:

m* Antarctic caused mainty by CFC
gases,
() the Antarctic caused mainly P
dioxide gas.

\{ﬁ/ﬂlﬂ Arctic caused mainly by CFC gase®

@ the Arctic caused wainly By &
diﬂ}ﬂde gﬂg_

¥ carbon

C)



§ T i e e e itorn| )

i P Research Organization in
/, Chandraysan.g

gf Selar Mission Aditys.11

g Liguid fuel powered rockets

4 BSolar powered rockets

Gelect the angwer using the code given below :

I:B:;' 1.and-2 D.'Elhr
1,2and3

@) Sand 4 only

(@ 1,2, 3and4

Which one of the following is tho most
appropriate reason for aircraft being equipped
with conducting tyres ?

() They can transfer the charge
%ﬂﬂﬂmﬂl&tﬁd on their surfaces during
Lightning

) They can tramsfer the charge
accumulated on their surfaces being
rubbed by air particles '

(;y They can transfer the charge
gecumulated on their surfaces due to
inflight operation of several gadgets

d / For prevenfing sparks while they land

on the ground

ts for persons

. Which of the following statemen
rract 7

suffering from presbyopia isfare co
1.  They cannot distinguish colours.
Tt usually develops with ageing-

3, They wear either hi-focal ~lemses

congisting of both concave and COTIVEX
lenees or progressive lenses.
Select the answer using the code given below :
{a) 1only
(b) 2only
(¢) 1and3
2and 3

an unknown madigy,
lnowi. 1t travels a distane
2

times its wavelength in 455,

bt (DRDO) of Indiz is related to

hich o8 aprong the following ki
1 of multiple satellites using =

Eing]ﬂ mcket

heavy satellites
Use of high power rockets in launehing

of satellites

@,}/ Use of rocket to destroy an orhting

Tn Sun-Earth system, the Sun, the Earth and

the Lagrange point L4 form
(2) snisosceles triangle
(h); - s eguilateral triangle
o ateaight line

a scalene triangle

(11-C)

KU-8-GKL



In which

of the
1 i
“lowing colloids is the |38

R o

ace of the conerete gip
2 of

g ¥ "
Th ﬂt-mn 18 Covered with stry & g

%i;\o {a) Mist by fast ;

'i‘:s: F[[ﬁfﬁnti i ﬂvapﬂrﬁtlﬂn, unkij ki

B (B Foam Y gy proceeded well Firation

s

a» catect the conerete gtryey,

: ) Jelly (b} Eantﬁmhmtiun by dugt particeg I8 from
i V;})/ 1avi t davel

2 i Bhaving Cream " I.;we:::f e opment of any § >
5 hos angug

42. The two isotopes of elemental chlorine are |

35
() ,C and >°C a6,

g4
(M)  ,C and f:c

35 a7
ﬁ‘ 17C and ,,C

/35 37
\}{ o and €

93 Which cne among the following metals is no? | 37,

giored under oil 7

(¢} Potassium

(d) Lithium

34, Potassium nitrate is wef used :
{a) as a fertilizer
(b} in medicine

(c) in making gunpowder

\,(d/as a pres'ervative of meat products

RAKU-S-GKL
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@ A smocther and cleaner surface gye
coment gtructure 3

.+ one among the following statements g

the Easgs mEﬂtiﬂnEd below is noi corroct 7

(a) Hydrogen has 3 isotopes.
glectric bulbs.

(¢ Osygen iz used to burn fuel in rocket
engines in spacecraft.

(d) Nitrogen can be used in gaseous form fo

replace air it food packaging,

Match List-1 with List-1T apd select the correct
aniwer using the code given below the Lists :
Liat-I List-II
(Trade Name) {Chemical Name)
A, Bleaching 1. Sodium

powder hicarbonate
B. Bakingsoda 2. Sodium earbonate,
10 water
C. Washing soda 3. Celeium
oxychloride
D. Plaster of 4. Calcium sulphate,
Peris 1 water
2
Code :
-
(P i 9 4
(h) 3 7 1 4
2 s 1 8
(d) 1 5 3




(d) Hydro ehloric acid

RAKU-S-GKL
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(15~

E {098 ﬁmnng} tl:c?hnuwmg = ot g
. z il . for planne
Elﬁ-' 35, Which one emong the fallowing statements i ki mEﬂt ?
%i pot true for glass 2 ] o {pof /
. - [hfapsd
b. \y/sndium aili i Mo i
n { CATe is known ns waler glass, i llghl‘!ﬂill-lm
i\l : el .
',il: (b) Glassis also calleq auper cooled Hguid, i) (.'l‘l'“"rm'{=
- i
ilf (¢ Crystallinity develops on cooling of tha in the plants are responsible for the
3 xyled .
; molten mass of the glass 42 i H'[-H:'ﬂ' ot
3 raterl
. loured olagaes o 5 Yy g : Wa ; 4
8 {dy Calo glagsas san be made by ndding (ﬂ],f-._uirﬁtﬁf' and dizsolyed minerile
3 different colouring materinls; .
%} (e (1abe
B Food
Y [}
3
o -
iy P H it h a)
':'\3'5 ﬂl‘hi(‘h one among the fﬂuﬂWlﬂg' s TE.EPUII.S]hlE 43 Tﬂhlﬂh ane SINOE the fEIHDW'[Tlg. OTTGDEE
SN , | T wih activity in plants ?
3 for determining the chemical properties of an inhiits t4¢ BXC"
B slement ? () Aewms
3 b LIrnns
B Oibpereliins
Ef:'-_- (b} Hlectrans k- 5%
i following  cstegory  Of
F i Neutrons 44 Which: fohcihe. % 2
s biomolecules does Starch helongto -
3 (d) Nuecleus (a] Protein
5 b Carbohydrate
E'- . e} Lipid
6 ot : iz uged in )
"40: Which one among the following 1= (d) Nucleic ncid
- bleaching of paper ? i following 18 not &
e : . ich one among the
;. ¢ \Jﬂf/ﬂh}ﬂl‘ide' t featura {le@TI}phyt-Eﬂ ?
L (8} Smaller leaves
; v robenzene s T — it
() ‘Gl I v stamate
(@ Ammonium chloride © Waxy cuticle: |

@ Stomata in pits

i

o e
Th




{a) cidic spi]
57 (Saline sof]
(¢} Black soil
(d) Sandy soil
7. Which one among the following is ret a part of
vageular bundle in planta ?
(a) Phloem
(b Xylem
{e) Cambium

'J@j/ Endodermis

g, In which one among the following medigms

yhe speed of sound be maximum 7
Distilled water

{hl
M
{d)

Sea water

Drinking water
Methanol

9. Which organelle in animal cells can digest
forelgn materials 7

(&)
ol

(c)
(d)

Endoplasmic reticulum
Lysosome

Golgi bedy
Mitochondria

Photosynthesis that converts light energy into
chemical emergy by the plants, involves
the use of green pigments of leaves called
thlorophyll, The only structure in a leaf that
hosts chlorophyll is :

(a) Nucleus

(b}  Rihosome
G Chlsroplast

(d) Chromosome

61,

B52.

53,

54.

men’s badminton tegg, r

Indi;‘& ‘;mintﬂn Asla Team Ch iti‘.'r Won
the “gho among the following pigy, i,
o034 e of the team 7 ¥ Way
not 8 y, sindhu
{a} T;'L‘Bﬂu' " ! Dll}'
(b mol Khgrb
{‘c:j / gpinia Nehwal

o of the following statements relateq i,
Ind-j,ﬂ.ﬂ mﬂdlcmﬂ gystem is not CoTT6CL 7

The Sidq:'lha s]rsi‘_.em i3 a holiatic Ev8tem
{9 Dfme_.diﬂﬂa-
gowa-Kigpa has been in practice in e

/Himﬂlﬂ}’ﬂn regions of India,
./ ynani system of medicine has beeg
o d_i__u.g[}[:iﬂtﬁd from the Ministry of Ayush,

@ gushruta Semhita is a major source of
mﬂeﬂa.
which one of the following statements is
coprect aboub NISHTHA, a Government of

(b

() It iz & traiming module recently
introduced  in  LBSNAA for il
gervanis.

) Itisa teacher-training programme.

It is a training programme for the new
recruits in Delhi Police to inculeate
integrity of service among them.

It 35 a workshop for newly elected
Members of Parliament organized
toutinely by the Lok Sabha Secretariat.

Arrange the BRICS countries in ascending
order of their remk in the Human
Development Report 2023-24, released by the
UNDP :

{c)

(d)

China

India

Russia

Brazil

South Africa

elect the answer using the code given below
RS R

(h) %4,5,8,1 -

EE:I 5
4,
@ »o%31

v T LR -
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4. Indi# hs‘E: signed a Trade and Economic
parme‘fahip fgreement (TEPA) with EFTA,
which 18 8 regonal group eonsisting of four

muﬂtl'%ﬁﬂ-. Which one of the following
gountries i8 20¢ & member of this group 7
(a) Switzerland
m Norway
Teeland
@) England

Which unehof the following countries shares
the territorial boundary with both Russia and

{kraine ?

(a) Estonia

h) Latvia
Belarus

(@) Poland

. In June 2024, India signed a Memorandum of
Understanding (MolU) with TUSA for
supporting Indian Railways to achieve
Mission Net Zero Carbon Emission by the
yeur ;

(al 2030

b 2040

€ 2050

(d) 2070

Which one of the following statements is

sorrect about the PM-JANMAN scheme ?

) Tt is a scheme of the Government of

India to impart electoral literacy to

volers.

It is a scheme of the Government of

India for deepening of democracy in the

functioning  of Panchayati  Raj

institutions.

(&) It is-a scheme of the Government of
India for benefitting every member of
the tribal community from Government

schemes.
It jz a scheme of the Government of

(b}

60.

6l.

i)
India for benefitting migrants workers
in the unoxganized sector:
"KU-5-GKL {19-C)

5 following statements i .

of
whic?

? L] "
cnrrﬁ‘:t Ggﬂ-E’ETU is & mobile app, whig,
(a) Z?ﬂﬂ to 1MPTOVE the Ease of Doing

Buﬂiﬂﬂﬁﬂ'

arit gagar aims at achieving Zero
(b Zgrbﬂﬂ Fmission Goal.
" gngo” panthan is a mission launched by
E ) 3 ) -

4 Iﬂini Fir}r Ut Pﬂrtﬂf S}'ﬂppmg aﬂd
anrwnjrﬂ, Government of India, te

jporease fish producticn.

Codta gerena is the first international

criiis?

(d?
liner in India.

18RO, in 18 stndies, has revealed that there is
a 178% increase in the size of the Ghepang
(ihat Glacial Lake. In which of the following
States/UTs is this lake located 7

(a) dammu & Kaghmir

(b}
(¢/ Himachal Pradesh

(d)

Ladakh

Uttarakhand

Which of the following State/s is/are common
to Bru-Reang Agreement, NLFT (8D)

Agreement gnd Tripartite Agreement with
TIPRA 7

(a) Tripury
fssam and Tripura
Tripura H-Ind Mizoram

Manipur and Mizoram
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66,

. Oppenheimer

(@)  Killers of the Flower Moon

[ndia’s first dedicated OPD for the
Transgenders was opened al which one amen
{he following hospitals ?

AIIMS, New Delti
PGIMER, Chandigarh
KGMU, Lucknow

REML Haspital, New Delhi

()
{b)
(e)
(d)

Which one of the following statements about
NS Tarmugli’ is rot correct ?

(a) Itisa fast attack craft commisaioned by
the Indian Navy.

It was commissioned at Naval Dockyard,
Visakhapatnam.

Tt was given by the Government of India
to Sri Lankan Naval Force in 2006
and returned to the Indian Navy in
May 2023.

It i¢ supposed to be used for coastal

(bl s

(e

d)

surveillance.

Which one of the following resolutions in the
final agreement reached at COP28 is8
associated with the target of achieving Net

Zero by 205077

(a) Fossil fiel phase-out
(bj Methane emission cuts
{¢)
{d)

Global goal on adaptation

Climate resilience

RAKU-S-GKL (21-C)

e Jhe following statemeny, .
Can

vﬂﬁt—t‘ﬂ HECO -
FEB unt ig
i BN attguny

, an Indian bank holds for 5 g,
i in the domestic curren e
b , oY (rupee) v
domestic banks g provid

B

.nmrﬂﬂﬁu nal bﬂ-“kjﬂﬂ’ BeTvicea,
I

EUIH'HGE : i-E., Bveragn
iﬂﬁﬂrﬂncﬂ premuum per capita does not

iy captore the finanding gap in the
mnt of @ .I:remature death becange
st of the Insurance products sold in
ndis 878 gavinge-linked with a small
cumPaﬂﬂ“ of protection.

density,

TWhich of the statements given abave is/are
correch ©

@ 1 only

(b o gnly

(c) Both 1 a0d 2

(d) Weither 1 mor 2

ider the following staterments :
4n  addifional spending by the
Goveynment of ¥ is Hikely to have less
impact on income than an additionsl
transfer of T X to households.
An  sdditional spending by the
Government of T X is likely W@ have less
ineome  f it not
an expansion in money

Coms
1.

15

impact
accompanied by
supply.

Which of the statements given above is/are
torrect 7

on

&) 1only

b} 2iomly-

@ Both 1 and 2
@ Neither 1 nor 2




e

T :
1.8 Leng-=Brm ‘Tj'c'“’ Emissions
Strategy envisiong .

1. @ transition figy
smaoth,

Deval opment

: fossil fuels in & just,
Sustainahle manner.

increased use of bio-fuels.
c]matfa resistant urban development,
financing of sugtainable development

through Green Bonds,
Select the answer using the code given below :
(a) 1and2only
k) 1,2and3
(¢} 2and4enly o
(d 1,3and4

Which one among the following was the focus
of the Twelfth Five-Year Plan 7

Sustainable and Inclusive Growth
Social Justice and Equality

Food, Work and Productivity
Attainment of Self-reliance

(a)
{h}
(c)

(d) 4.

. Which of the following is net included in the
Capital Account of the Balance of Payments of
acountry ?

\M Foreign Direct Investment
(b}
]

(d)

Commercial Borrowing 75.

Tnvisibles
External Assistance

. The Atmanirbhar Bharat Scheme announced

by the Government helps in :
L  Enhancing India’s manufacturing
capahilities and exporfs across the

industries
% Incentivizing foreign investments for
domestic production

Select the snswer using the code given below : | 76
‘ﬁ-l/lhunlf,r
) 2 only
(o) Both 1and 2
(d) Neither 1 nor 2
(95=C)

AK-5-GKL

(o) Demand for good X decreases &nd

the following statemay; for

i f
riﬂm in Perfect Cﬂmpeﬁtiﬁu 11

arket price I‘ﬂll_St be gleater
gverage variable cost ip the

pqu? !

Bh{]l't’ e must b@

ﬂl; snal cost:

o arket price must be equal t,

Tb:rﬂ 4o cost in the long run,

.a‘TE marginal cost decreases ai e

iu]ui]ih'fi‘-‘m oupub

o of the following taxes is not
4in the Central Pool {0 he shared

States according  to  the
qendations of Finance Commission of

Which
in:’_‘.l[ldﬂ
with
rec:t_iiﬂ?
{Iﬂfj : Personal [ncome Tax

(E} gorporate Profit Tax

(¢) Surcharge and Cess

[&} Excize Duties

Which one of the following dimensions is net
included in Human Development Index ?

() Life Expectancy at birth

) Mean years of schooling

() Expected years of schooling
(d) Mortality rate

Suppose there are only two normal goods in
the economy, X and Y. If price of good X
increases, which would be the correct

statement from below ?

(a) Demand for good X decreases and
demand for Y is indeterminate.

demand for Y decreases.

(¢} Demand for good X increases and
demand for Y is indeterminate.

() Demand for good X increases and
demand for Y decreases.

If tha price index increased from 100 in 2021

t 110'in 2099 t5 132 in 2023, then the rate of
ation jg

{a) 10w, <
{b:] 32% L i
r:ﬂ-} 2[}&?.' 1
(e

Cannot be determined




fhe Rangarajan
Committe,

the following paits of Himalayan

Rt KU-8.0 kL

" Jerermining  the miathog
i Pove | oFiodology § .
gpich of the fulluﬁng?rty' line '“““’-‘Purat:; . Eﬂ.fillfih ¢ gt their location isfare corractly
. A food corape Glacier®
¥ 5 nent, nat Ehﬂd’f
E* ormative Jes: = N'llhl'ﬂ Valley Ragl
egsential ﬂﬂn{uﬂze.l of expenditure fuy gjach®” ey Reglon
| i items hat = Kumaon-Garhwal
g, A behaviourally detsrmined ohun¥ Re!
rmine : gio
for other non-food items expenditire - [;1 .
; = Lmtr epal Region
gelect the Eﬂ?wer using the code given balow - 4. Zem" P L i
S lﬂj 1 EIII.d 2 ﬂl’ll}' 4 Gashﬂfbmm e ir Paﬂiﬂl Range
% @ Zand3 only geloct 10° gpswer using the code given below :
%“ @ 1sndSonly G
- - g 1e287
%PQTEM which one of the following is mof a fund 1
5«. :§ anaged by NIFL (National Investment (@) 48¢
p%ﬁ and mnfrastructure Fund Limited) ? @ 38 and 4
N W Fund of Funds
:hg?:_\-\‘.: i 2
E t {e) Strategic Opportunities Fund g2, Consider the following statements regarding
3 © i Global Investment Fund the r1vers of India
28 , w ., Barak River, the head stream of the
};' 79, DPandit Deendayal Upadhyay National Welfare L, AR - ) 2
? fund was established with the view to help Meghna, rises I the hills of Megha!ay=
%- vhich one of the following groups 7 g,  'The Ghaggar River does nob drain out to
.=' ] Medical Practitioners the sea and gets lost in the REejasthan
() Farmers desert.
¢ Sportspersons 5 Puthimari and Manpas &f¢ important
(d War Widows tributaries of the Brahmaputra.
80, Which one &moOng the following items Which of the statements given above is/are
comprises  the —major pertion of revenue correct ?
expenditure of the Union (tovernment of w/
India 7 1 omly
lai Salaries (b) 2only
-@/Inwmst Payments (¢) landZ
() Road Transport and Highway? ) 2andd g
d)  Defence Services
(25-C)

_,__.—-_'1



) Hokera Wetland
(b} Paint: Calimere Wildlife and Bird
Banctuary
Tsernoriri Lake
: Uﬂ/ Wular Lake
' RAKUIs . (27-C)

o

gonsider the following statements regarding

i aneportation  functions  aeeoointed with

111'-"I1"5'ﬂ;a'u{-r Hosts ¢

g Singapore functions hoth ng a port of call
and an entrepet,

g~ Karwar in India {g an example of p
nsval port.

3. Dover in England is sn example of an
putport.

which of the statements given above is/are
correct 7

(g} lonly

{6y 3only

(¢) land3

@) land2

{pmulonimbug elouds develop frem which
ameng the following clouda ?

(2} Cumulus congestus glonds

&/ Cumulas and Nimbostratus clonds

) Cumulus and Altostratus clouds

i) Cirrocumulus clouds

Which of the following Ramsar Wetland sites
iamot situated in any of the Union Territories
tf [ndia. 7

| g8.

87.

e

oi? g mferenee based on the angle

th
h.;u different pointe. Which

s O

st
e P ﬂﬂ”

hﬂ}’ !

dﬂﬂ and Syene
and Troy

i and Troy

Thebes

of Euﬂ

citiod et
E‘

gyer®
Aloee”
AleF

(n)
{b)
(e)
(d)

aﬂdﬂ g and

of MBES wasting proceszes are
mﬂnaguciated with creep 7
; speed with go1l

Fad
alow EPEP"d with rack

glaw
16 peed with goil

EPEE& with iee

()

Consider the following statements :
4}

Hadley cells are key to understanding

L
this wind patterns aof Barth.

{Jadley cells are formed becauze the
Fquator is heated more strongly by the
Sun than other places, creating thermal
cireulations,

Wath regard to the statements given above,
which of the following is correct ?

J Both' the statements are correct and
statement 2 is tho correct explanation of
statement, 1.

Both the statements are correct, but
statement 9 is nof the coreect
explanation of statement 1.

Statement 1 is correct, buf statement i
15 falap,

Statement 1 ig false, hut statcment 2 18
Corract,




g0 the following i= not
Which ot weat,hering 7

of ﬁhﬂiﬂl d actiuﬂ

t g Equatorial ¢y (b yatal Orowth
; sreRtiin =nts move cold waler S .
! Saet boma then poleward nlong the g Dﬂdp_tl’ﬂn
| BELS of continents, (d}
l with regard to the statements Sioen wi b che following statemente regarding
J ) aboy [
; which of the following is correct ? b mﬂﬂnl unfe? is/are correct ?
' &re i .

E fa) Both the statements ava oosvect amd : g ,‘,ulr;ﬂnoe.ﬂ are found near divergent
" statement 2 is the correct miplﬁnati_g:; of : Jlate poundanas

statement 1, Come of the world’s clagsical examples of

8

wpe—shﬂPcd stratovolearoes, such as

() Both the statements are correct, but M m th
ayon 1m =

A A Y

statement 2 18 moft the correct E\'Iﬂlmt F'L]j"_ in rjﬂfpa‘ll,
explanation of statement 1. philippines are Ave volcanoes.

o) Statement 1 is correct, but statement 2 3 Some of the highest voleances on Ear.th
ia falze, qre of the Are type, notably Mevado Ojos

: . i Chilean Andes.

(@ Statement 1 is false, but statement 2 is 401 Salado jn the Chile

eorrect. Guleet the ANSWET using the code given below ©
(4} Zoaly
9. As per India State of Forest Report 2021, 4y 2 and 3 only

which one of the following states 18 nof among (c) 1amid3only

_ s to maximmi a2rea
the tup three with reference to m (d} 1, 2and3

E under forest ?

| () Aranachal Pradesh 94, Which one of the following statements
E i regarding S-waves ig mot correct ?

i o Madhya Pradesh (@) B-waves are slower than P-waves.

i.':., E}L'/ “Maharashtr { During an earthquake S-waves are less

destractive to structures like puildings

TCIET——nr

. How is strong pressure gradient represented

| and highway overpasses,

E"_, on & weather map ? (©)  S-waves can travel only through solids

. (8) Clogely spaced isobars and canngt travel through the Earth's
(b) Widely spaced isobars | iker cope,

ed isobars at the periphery @ Seismologists have condluded that i

saob Farths outer core must be tiquid &
ed isobars fluig

(e} Closely spac

@) A get of two W
followed by two closely SPAC

jdely gpaced isobars

""-'H"';w"x-"“‘w‘?’f T




. Consider the following statements

ghich of the folgg o0
# pang2 Basin ¢ States jufarg PATE of tha
ﬁ. Himacha] Pra sy

3. Rajasthan

# Which peninguigy Yiver has
Habini’ 7

(a) Godavari

i Krishna

¢} Mahanadi

)y Kaveri

1. Bajra is bredominantly Brown in states
like Rajasthan, Uttar Pradesh and
Gujarat, while Ragi is mainly cultivated
in Karnataka and Tamil Nadu,

& Bajra grows well in sandy and shallow
black soails, whereas red and shallow
black soil is suited for Ragi,

With regard to the statements given above,
which of the following is correct ?

Both the statements are correct and
statement 2 is the correct explanation of
statement 1.

Both the statements are correct, but
statement 2 not the correct
explanation of statement 1.

jg correct, hut statement 2

58

Statement 1
igfalse.
Statement
correct,

1 ig false, but ctatement 2 18

Soi

w

98,

99,

100,

(31-C}

which o
din 7 '
in 1 DhﬂuIﬁgJﬁ "
5, N aonchs P
a Kamet
Makalt : .
4. - gwer using the code given beloy .
Seleet hE
@ L2 and 3
{ and 3 only
o 2 and 3 only

]
o ;
9 and 4 001y & mmm“"%

8tz et
Which G'f'_' ¢ following statements regarding

River Rhine jsfare correct 7

1. Rhine River is an important pathway for
industrial activity in northern Germany,

9. port of Rotterdam is located at the
mouth of the Rhine River.

Select the answer using the code given below -

{fa} lonly

(h) only
wﬁ/;ut.h 1 and 2
(d) Neijther 1 nor 2

With reference to the continent of ‘Antaretics’
which of the following statements are correct 7
L Ibis larger than Europe in terms of area
2. It has the highest aversge elevation as
C0mpared to all other continents.

P M Ross is the highest peak of this
tontinent,

i Waters of the Southern Ocean (West
?fmd Drift) move in an anticlockwise

2 I.I'Eﬂﬁ.ﬂ]l around it

[_.ilﬁﬂt the Answer using the code given below

8 1 and’g ol

b) 1 and g oy

{E] 1, 2 E-nd 3

(d) 2 3 5




3

E 101, Consider the foliowip g fONOVITE Statery, "

3 _ & statements : patder = i “0but g,
E‘ — Phllﬂsuph'y : ahoug the [104. Co I pridaws 10 tha 1gth et ey Iruu:
5 o a a . -
E 1. Shra.lﬂiﬂ;a was th & ) 4 Rajs ﬁﬂ::; Jai EIIIEEI of

& ¢ lounder of Advaita ' pod #AdOW Temaryis,,,

i Vacants, o peny % »

B . ard an
3 2. The philosophy of py it e, g. M sted Widow remarrie.

: by Madhya, prof? B

§ ich of 5 Raja B MORRN ROy opposed say

E Whi the statements given above ia/nre ' g of e stalements given shove ay

: correct ? Whi '

g .

& ) correct

g (a} 1oniy 2 only

b @ 1o

i (B} 2 only 2 qnl

X (b Land 3T

i (¢) Both1and2 () ganddonly

g fd) Neither I nor 2 19 and 3

@ L

Consider the following statements about the
administrative measures of Shivaji -

The scheme of Ashiv Pradhan (eight
ministers)  was completed  and
annpunced at the time of Shivgji’s

102. The distribution of charkhas on a wide scals 105,
among the people was decided by :
ta} Congress Working Committes in 1919 i

(b}  All India Congress Committes in 1921

(¢)  Mshatma Gandhi at the start of Dandi
:1 a 'Gandhi Sl taan coronation with regulations and duoties

: M

E = properly defined.

;:.- (d)  AllIndia Congress Committee in 1947 2. Shivaji introduced Marathi in place of
Persian and coined Sanskrit technical
terms for administrative purposes.

103. The terms used for cereals in the Rig Veda Which of 1 above isfare
| e statements given above
are : torrect 7
(&) Godhume and Vrihi @ 1on
¥
tb}  ¥gvu and Dhanya (b) 2 onl
¥
(¢ Tylg and Khala ) Bit ¢
_ ’ and 2 2
(d) Privangu and Shyamaka (d) Nﬁithsr
1nor 2
RAKU-8-GKL (33-C)




e TR =

. Mosolithis arg
soucider the follawing ot etom ents | &
Alexander ' '
otk Paintingy 4 g oS the fine
) Indig at EPh'ﬁ!aighat in

1 India, | 108,

Weara
V.5, |
) : rocks out of g
tran windew  whja travelling e
Bhopal to Marsi ang got

3. The paintings apg engravings do nat
exist in the same shelter in thq rock art
of Orissa,

: ,: Which of the statementg Eiven above is/are
ﬂ.;‘\' oorrect ? Iy
e fa) Lenly

;;-' (& Zonly / EZE—-‘

= I Fand 3 s

;;ﬁ: [d) land2

2 10s, :I“ the decoration of SBtupas, what does the
3 B Conjutking’ refer to ?

: ( © Crbepors chowing ornaments and
| textiles

. i

110.

Searves and saris

o Mango shaped pendants

. 4 garland of thousand lotus flowers

i
f

(35-C)

S e g N -
.= u;* _ET._f_I'!"h‘Axi;_

[t e

of ‘ﬁaghﬂ wLion Capital” 8t Sarmath ?

Wk Ty of B apubbayashii) o the tal
gompe aft (
;, Th 0 .

tapd 1-pbil=51 top part — the abaduy,

E] ‘ - -

2. AP qof g0y © | .
 dev? e inverted petels below the
5. e

ﬂ::::ﬁ“"' qsing the code given below :
Belect
(a) 1enlf
{hy 3 and ﬂfnﬂy
(@) 2and Lo
(@ 128083
Congider the following events leading to the

Tndian Independsnics :

{. Lucknow Pact
Roturn of Subhagh Chandra Bose to

2
India
8.  Cripps Mission
4.  Naval Mutiny in Bﬂm]:najr

Select the chronological sequence of these
events (earliest to latest) from the code given
below ;

(a) 4,821

(b} 8,4,2,1

® L3

d) 3 13,4

bt Mong the following were famous for
mn;l:m"“_ﬂﬂing_ skills end used to cast
D'.E'Iflud"jl matchloplks during the medieval
fa) M“ﬂthaa

(d) G‘:‘nﬁﬁ




(onsieT the follgy:

W yodent Hindu mepy ETE."]“‘“ ut
y The Cholg po. = “*ialn e
aesthetie ang 1;: 18 wal) kg, .
ching th
metal E'Euaptum‘ ta) finegg, of it:

The itongepy....
et imﬂ::pm;r:nfl Stele o Chola
their stone %untﬁrpaj.:ﬂ&r £ those of
which of the Statemeng,
orrect 7

1 only

% only

Biven aboye 4 i

Both 1 and 2
Neither 1 ngr 2

1% Which one of the following terms Was used for
the States in the Draft Constityiion presented
by Dr. BR. Ambedkar o 4t
19487

uen/ Unicn of States
) Federation of States

November,

e} Autonomons States

0l Subsidiary States

118, The tifbrive. was a garment worn by people
during the Mauryan period. It was :
W m unstitched length of cloth draped

around the body. ‘

" a sewn garment congisting of a sleeved

binig,
o 4 head covering used exclusively by
Women,

I .
4 Made of strips sewn together tied at the

ﬁ}‘ﬂn W -ulg ﬂtﬁiﬂmtﬂtﬂ 'Wi.th

114, Coneider ytpala dynasty of Kaskhmg, :

vafarance ¥ an, the founder, devoted hig
1, ﬁ“;iﬁ 5 to th_“ economic upliftment of
pnBIE . ia. ;
- gk
h;a.ﬂ‘ﬂ:i an's period in Kashmir is
3 Avact for the engineering operations
knﬂ‘”“hia minister Suyya, resulting in
”_ﬂd::,? 0 inerease of graine and fall
the '
in price® = .
o i e gtatements given above isfare
Which ©
corrﬁﬂt?
(a) 10111}’
() Eﬂﬂ]:f
(¢) Both 1and 2
(& Neither 12072

115. Consider the following pairs of High
Offices and concerned Departments in the

“aist with a cord.

=

(37 -

Mauryan Administration :
1. Samahaitri Chief Collector of
Revenue
2. Dauvartka Chief of Army
3. Abshapalala Records-cum-Audit
Officer
4. Semnidhair Treasurer
Which of the pairs given above are correctly
matehad 7
{a) landsp only
(k) 1,.3 and 4 only
¢)  Band 4 only
ST
Gt kngdom  was  described by
that wi;rj:;m‘!rﬂl Lord Dalhousie as “A cherry
GF mggy ORIt T
(b} Away
5 J}*ﬁnsi
(d)
Gw lioy

C)




r

DBUgeg hEEﬂmﬁ a

regular featurg,

| Bi‘lﬂ't land 2
@ Neither 1 nor 2

| b thich of the following statements isfare
wreect 7

1, During the Sescond Round Tahle

Conference held in London in 1981, the
British Government refused to accept
the nationaligt
freedom.

basie demand for

L India was granted dominion status in
1332,

i Vierpy Lord Willingdon adopted a
jeliey of reconciliation with Congress.

T A T

bThe Civil Disobedience Movement was
Htarted with the breaking of salt laws.

e the amswer using the code given below :

W Yangsa only

b
Sy ind 4 only
I}

L2and 4

M

(39-C)

—————AE -

fuﬂwi‘ng statements &buut

quder  the fﬁllﬁmhg P apich ﬂf . ﬂrg_ correct 7
,-efﬂ“nm to Censug iy 1 adia - with (118, ey jae! o India in 1946 to negotiate
; 5 , Al Tndia Cenaue , 1t woe o ,:,f power with the Indian
attempted in 1879, i ghe ¥
f
g From 1881, deconpiy] of fende’ i two-tiered federal plan

P 1t P F seding the largest measure of
' cone

wlullﬂ 5] putonomy:
B ga to be a federation of provinees '
g, Thﬂri:wg glongside a federal centre.
and 8 . divi sidual provinces were allowed to
4. T lregiansl unions to which they could
ziﬂder some of their powers by
mutual agreement.
Select the AnSWeT using the code given below :
1 and 3 only
(b 9 and 4 only
(¢} 2. 3and4only ID /G?
(d) 1,2, 3and4

- Consider the following pairs :

L Gajopati — Name ofa powerful

| Dynasty in Orissa

2, Aﬁﬁﬂﬂputi — Deccan Sultans

B Norapat; _ Rayas of Vijayanagara
E:E;?f the above pairs isfare correctly
(a) 1 only

b) 3 only

fed 1.9 dnd g

(d)

N
Ne of the above




